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153 RS54 /3— % | REE | REBest [R1Uh
1 Sugar-CL7 14 |52 LAP | 31.994 | 15p
2 BE-5TE 16 |52 LAP | 32.008 | 14p
3 TYR B 12 |52 LAP | 32.011 | 13p
4 P=F R il 18 |52 LAP| 3221 | 12p
5 &k E -GON 17 |52 LAP| 32423 | 11p
6 LYRSL-ZYLY | 15 |52 LAP| 32.099 | 10p
7 5 - 4010 13 |52 LAP| 32183 | 9p
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gz RS54/3— | REH | REBest Rk
1 LyFSL-Eh 13 |45 LAP | 34.327 | 15p
2 BIA-CL7 16 |45 LAP | 33.663 | 14p
3 GON-ZE 17 |45 LAP | 34.278 | 13p
4 Sugar-#i)1| 14 |45 LAP| 34.298 | 12p
5 BH-A 15 |45 LAP | 34321 | 11p
6 HE-kE 18 |44 LAP| 3497 | 10p
7 TYRZYLY 12 |44 LAP | 34827 | 9p
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RS54 /8— H— | B |[RAUN h—k | IEG [RaoN A—b | JER RN h—k | B |RaoM H—b | IER (RN &5
ESE S 2 1 120 | 14 1 15p 7 3 | 13p 40p
a3 6 2 | 11p 4 2 | 14p 6 5 | 11p | 36p
Sugar 2 4 9p 1 1 15p 10 4 12p | 36p
LyRS L 3 3 | 10p| 9 2 | 14p 8 6 | 10p 34p
=5 5 5 8 | 13 4 | 12p 12 2 | 14p 34p
&km@ 3 9 6p 2 3 | 13p 3 3 | 13p | 32p
b=F i 1 1 | 4p | 12 5 | 11p 9 1 15p 30p
fizkad 7 6 To | 11 3 | 13p 13 7 9% 29p
GON 6 12 | 3p 3 4 | 12p 4 2 | 14p | 29p
BIE 7 7 6p 8 6 | 10p 11 4 | 12p 28p
SYLY 1 8 7o 5 5 | 11p 5 7 9% | 27p
CL7 4 14 | 1p 10 6 | 10p 1 1 150 | 26p
edl] 4 10 | 5p 6 7 9% 2 6 | 10p | 24p
B 5 13 | 2 7 7 9 14 5 | 11p 22p
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RS54 /3— H—h | IBEL |RAUN h—k | JEGL |[RAUN A=k | IERL |RAk h—k | IBEL |RAUN h—k | IEL |[RAoHN &5
YRS L 3 2 | 11p | 8 1 15p 2 1 15p 41p
GON 6 5 8 | 11 3 | 13 9 2 | 14p 35p
LS 2 3 | 10p | 12 2 | 14p 13 6 | 10p 34p
Sugar 2 7 6p 13 1 15p 2 3 13p | 34p
BTE 7 1 120 | 10 6 | 10p 10 5 | 11p 33p
B 7 6 7o 4 4 | 12p 5 2 | 14p | 33p
&M@ 3 8 7p 9 4 | 12p 11 4 | 12p 31p
cL7 4 9 6p 3 3 | 13p 1 4 | 12p | 31p
=5 5 10 | 5p 5 2 | 14p 7 5 | 11p | 30p
| 4 12 | 3 1 5 | 11p 3 1 150 | 29p
ERE 6 4 9% 7 7 9% 4 7 9% | 27p
B 5 11 4p 2 5 11p 12 7 9% 24p
b= 1 14 | 1p | 14 7 9p 8 3 | 13p 23p
SYLY 1 13 | 2 6 6 | 10p 14 6 | 10p | 22p
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